
1/15

Ref: HT-0010
ARIAN



MATERIAL

2/15

Ref: HT-0010
ARIAN



3/15

Ref: HT-0010
ARIAN

MATERIAL



4/15

Ref: HT-0010
ARIAN

MATERIAL

A x16 PC

Ø15x12

M6x24 M6x55 Ø16xM6x1,5

M6x35 Ø8x40 M3,5x15 350 mm

B x16 PC C x16 PC D x72 PC E x6 PC

F x24 PC G x4 PC H x16 PC

Ø38x190 70x70x20 mm

I x4 PC J x4 PC

Ø12x12 5# 1350x40x20 

M4x17

K x24 PC

P x12 PC

L x1 PC M x1 PC

M6x15

N x12 PC O x8 PC

Q x5 PC R x4 PC S x5 PC

M6

T x12 PC

U x4 PC V x4 PC W x2 PC X x4 PC Y x4 PC

Z  x4 PCZZ  x1 PCAA



STEP 1

STEP 2

5/15

Ref: HT-0010
ARIAN

Mx1Jx4 Ix4 Lx1 Gx4 Hx16 Nx12 Tx12

J

I

M

L G

H

N
T

H

J

AA
Z I

�x4 ��x1Z AA



STEP 3

STEP 4

6/15

Ref: HT-0010
ARIAN

Bx8

Cx16Dx18



STEP 5

STEP 6

7/15

Ref: HT-0010
ARIAN

Ox8Ax8



STEP 7

STEP 8

8/15

Ref: HT-0010
ARIAN

Bx8

Ax8



STEP 9

STEP 10

9/15

Ref: HT-0010
ARIAN

Dx8 Rx4

Dx16 Qx2 Sx2



STEP 11

STEP 12

10/15

Ref: HT-0010
ARIAN

Dx12Px12

Fx24



STEP 13

STEP 14

11/15

Ref: HT-0010
ARIAN

Kx12



STEP 15

STEP 16

12/15

Ref: HT-0010
ARIAN

Kx12

x2

Dx18

E1x6

Qx3

Sx3



STEP 17

STEP 18

13/15

Ref: HT-0010
ARIAN



STEP 19

STEP 20

14/15

Ref: HT-0010
ARIAN

Ux2Vx4

OBLIGATORY FIX ON THE WALL

To avoid the accidental tip-over of 
the furniture, the fixing of the 
furniture on the wall is mandatory.

The needed hardware for the 
junction wall/furniture, depending 
of the nature of the wall, is not 
provided. 

V



STEP 21

STEP 22

15/15

Ref: HT-0010
ARIAN

Wx2

U

Ux2PC Yx4PC

Y

W


